Word Problems

Area & Perimeter

. Kaitlyn has a rectangular garden with a length of 6 metres and a width of 3 metres. What is the

perimeter of her garden?

2. A square table has a perimeter of 12 metres. What is the length of each side of the table”

3. Arectangular shop has a length of 10 metres and o width of 7 metres. What is the shop’s area”

4. The perimeter of a square book is 80 centimetres. How long is each side”

5. The area of Sam’s rectangular yard is 32 square metres. The length of her yard is 8 metres. What

is the width?
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Word Problems Answers

Area & Perimeter

1. Kaitlyn has a rectangular garden with a length of 6 metres and a width of 3 metres. What is the

oerimeter of her garden?

18 metres

2. A square table has a perimeter of 12 metres. What is the length of each side of the table”

3 metres

3. Arectangular shop has a length of 10 metres and o width of 7 metres. What is the shop’s area”

70 square metres

4. The perimeter of a square book is 80 centimetres. How long is each side”

20 centimetres

5. The area of Sam’s rectangular yard is 32 square metres. The length of her yard is 8 metres. What

is the width?

4 metres

¥

EASYTEACHING.NET g




